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Part One: Vocabulary and Grammar (40%)
Here are 20 incomplete sentences. For each sentence, you will find five choices;

choose the one answer that best completes the sentence.

1. All students applying for admission to this graduate program must take an
English examination those who are English native speakers.
a. beside
b. except
c. belong
d. exception to
e

. without

2. Afairand price is a price that is considered appropriate by both
parties in the transaction.
a. rational
b. reliable
c. reasonable
d. relative
e

reflective

3. For your health, you should avoid food that contains high fat and
sugar.
a. toeat
b. eating
c. digest
d. consume
e. take
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4. His accent was so heavy | had trouble what he was trying to say.
a. understanding
b. deciding
c. realizing
d. discussing
e. comprehend

5. John and David share the cost of this banquet they hosted at 40% and 60%

distributively

a.
b. not equally
c. respectively
d. collectively
e. jointly
6. The university administration believes that all students with easy

access to the information superhighway is a top priority.
a. developing

b. furnishing
c. allowing
d. enabling
e. enforcing

7. If she the detective honestly, she would not have been arrested.
a. would have answered
b. answered
c. should answer
d. had answered

e. could answer
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8. Even though they for thirty years, the two neighbors are not very
friendly.
a. having been live side by side

10.

11.

b
c.
d.
e

. had been living side by side

have been living side by side
having been living side by side

. had lived side by side

“I' am surprised that the government approved of the protest match.” “l am

too. It usually frowns such demonstration.”

a.

b
C.
d.
e. for

at

. on

with

to

Advertising is distinguished from other forms of communication

the advertiser pays for the message to be delivered.

a.

b
c
d.
e

in that

. Which
. Whereas

because of

. dueto

Mark admitted that it is difficult

-

for him being on time
being on time for him
for him to be on time
on time for him

being on time
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12. It was not until Mary had arrived home remembered her

13.

14,

15.

appointment with the lawyer.
a. when she
b. thatshe
c. andshe
d. she
e. forshe

Janet Collins’ struggle to make a place for herself in ballet is the kind of life
story a fascinating novel might be written.
a. of
b. by
c. forwhom
d. about which
e. by which

Ann to join us if she had been able to.
had come

would have come

would came

comes

® o0 T oo

could have come

“How does Mary like her new job?” “She with the hours.”
can’t satisfy

T o

isn’t satisfied
doesn’t satisfied

o o

hasn’t satisfied

e. wouldn’t satisfied



SRR S SR LY LR LTI T

L amn) ¢ AJREHRAT
XA B (KH45) 1 3 x(4203)

16.

17.

18.

19.
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There is no what may happen.

know

o o

knowing

known

Q ©

to know
e. to be known

“As | came around the corner | saw the robbers running down the street.”
“Did you get ?
the look on their faces
a look on their faces
to look in their faces
look at their face

e oon o @

looking at their face
“What do you think of Mark?” “He has no sense J
wherever

. however

a.
b

c. nevertheless
d. whatsoever
e

. worthily

Anthropology is a science anthropologists use a rigorous set of

method and techniques to document observations that can be checked by

others.

a. inthat
b. thatin
c. that

d. in

e. onthat
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20. What makes a study scientific is not, of course, the nature of the things with

which it is concerned but the method by which it deals with the things. “It”

refers to

a. study

b. nature

c. what

d. science

e. research objective

Part Two. Translate the following three Chinese sentences into English (30%)
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Part Three. Translate the following three English sentences into Chinese (30%)

1. The coastal populations of South Sea Islands, with very few exceptions, are, or

were before their extinction, expert navigators and traders.

2. During the past ten years the methods of inquiry into the historical development
of civilization have undergone remarkable change.

3. An economy is a social system for the production, exchange, and consumption of
goods and services. Using this definition, anthropologists believe that all human
societies have economics and that economic system can work without money

_and market.



